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Solve each problem.

1) 5,082 + 1,457 = 6,539

2) 7,505 + 4,539 = 12,044

3) 6,150 + 858 = 7,008

4) 18 + 4 = 22

5) 98 + 55 = 153

6) 795 + 411 = 1,206

7) 99 + 83 = 182

8) 415 + 23 = 438

9) 51 + 6 = 57

10) 813 + 589 = 1,402

11) 63 + 7 = 70

12) 716 + 92 = 808

13) 9,123 + 597 = 9,720

14) 8,660 + 79 = 8,739

15) 31 + 13 = 44

Answers

1. 6,539

2. 12,044

3. 7,008

4. 22

5. 153

6. 1,206

7. 182

8. 438

9. 57

10. 1,402

11. 70

12. 808

13. 9,720

14. 8,739

15. 44
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Solve each problem.

22 57 1,206 6,539 12,044

1,402 438 182 153 7,008

1) 5,082 + 1,457 = 6,539

2) 7,505 + 4,539 = 12,044

3) 6,150 + 858 = 7,008

4) 18 + 4 = 22

5) 98 + 55 = 153

6) 795 + 411 = 1,206

7) 99 + 83 = 182

8) 415 + 23 = 438

9) 51 + 6 = 57

10) 813 + 589 = 1,402
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10. 1,402
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